Vysledky ukola pro zaky 8.A, 8.B, 8.C z matematiky na dny
11.3.-18. 3. 2020

21. 0; —0,25; 1; 8; 33.

7 1 2 7
22. =; —2=; —4—; ——;
Blogiindaindgiang
b) 15;—57; —45; —45; c) 11; 36; 15; 7,5
23. Nema.

34. -5; —3,52; —1,75; 0;0,25; —1
35.4,4;14;0; -0,1;0,2; 2.

38.a) 5a+b+1;b) Tk +Tc—2;
c) 0,3t — 0,57 + 3; d) 3m? + 2am + 5,502

39. a) —6a + 2¢ + 6t;
b) 5,5p—15,9¢+1,7; ¢) h*—6,6h+0,49; d) 5r% —22r +4

40. a) 13t —5;
b) 9z% + 62 + 1; ¢) 2 + 6z + 1: d) —4,5m? + 5.2m,

44. a) 20'3 == 120,2 —a;

b) _30a’b + 10a3b? — a®b®

45. a) —27a — 36b:; b) 0; ¢) 18a + 5b;
d) 44 — 70a.

46. a) 39z —64; b) —360% +51¢+ 16; ¢) —2722 + 847 — 64-
d) 272° — 722"+ 362+ 16.
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Vysledky ukola pro zaky 8.A, 8.B, 8.C z matematiky na dny
18. 3. — 20. 3. 2020

Vytykej a doplii rovnosti.

a) 8ac—20bc=4¢- (22— 355 g) Jax—Thx=7x {a—-5)
b) 21+ 27nx=3x- (Tm+ 9n) h) O+ ax=x- (9+a)
c) bab+ 10bc=2b- (Ba+ 50) yda+8b+20=4 (@ +2b+35)
d) dabc-2¢=2¢- (2ab-1) iy 2ab+2ac=2a- (b+o)
e) S0G-4pG+pG=pG- 53-4+1=2pg k) 6r—-12=3. (2r—4)
£) 64+ v+ Bu—10uv=20u- (7 3v) ) Bac+27ad=9a - {c+34)
Vytyke,.

a) 3x4+ 3y = 3(x+y) g) ¢d + 7ed - Yed - Ted = —Sod

b) M+ 2m = mp+ 2) h) duv—2auv = w7 — a)
c) ded -6 = 2(2cd - 3) i) 3ab+3ac = 3a +o)
d) 33+953 = 8a i 2cd+ 2ce = 2c(d + e

€) iXy—7yx = 0 k) 8ac+ 16ab + 6dax

8alc + 26 + 8x)




